Stamp No.394 2025 Bulletin

Living Seashells Christmas Island Cultural Festivals 50 Years of Colour TV Raptors – Birds of Prey Postcards from the Front AAT Aurora Australis





Chinese New Year Hello Kitty and Friends Stamp Pack

Contains 9 themed self-adhesive \$1.50 MyStamps and a large look-alike stamp (not suitable for postage). 1515726 (76603836)



\$-





INES

EAR

Order online at auspost.com.au/lunarnewyear



© Copyright 2025 Australian Postal Corporation. All rights reserved. Australia Post stamp designs and philatelic products are subject to copyright and may not be reproduced without permission.

See page 23 for terms and conditions.

Applications for the reproduction of Australian stamps should be made in writing to:

Manager, Philatelic Australia Post **GPO Box 1777 MELBOURNE VIC 3001** australianstamps@auspost.com.au

Contents

| 4 | Living Seashells | |
|----|--|--|
| 6 | Christmas Island Cultural Festivals | |
| 8 | 50 Years of Colour TV | |
| 10 | Raptors – Birds of Prey | |
| 14 | Postcards from the Front | |
| 18 | AAT Aurora Australis | |

Also inside...

- 13 Happy Birthday
- 20 Sydney Stamp & Coin Expo
- 22 Screen Classics
- 23 Seven Seas



Released 11 March 2025

Living Seashells

A colourful collection featuring three marine gastropod molluscs.

The three species of ovulids depicted in this release of stamps have smooth, shiny shells - eqqlike in shape - and are most readily distinguished by their different colours. They are carnivorous and parasitic, feeding on various types of soft corals and sea fans or gorgonians. The photographs were taken by Brian R. Mayes in the waters of Nelson Bay, NSW.



First Day Cover (Gummed) 2287002 (76603541)

\$180



\$495

Stamp Pack 2287126 (76603542)

USTRA

\$1.50

\$450

Living

Seashells

\$1.50





TRAI

\$1.50

Stamp Design Set 2287067 (76603530)

🌌 🍓 🎉





Technical details

Withdrawal dates 1 October 2025 - FDC 9 April 2025

| Denomination | 3 x \$1.50 |
|---------------------------|--|
| Stamp & product design | Janet Boschen |
| Photography | Brian R. Mayes |
| Printer | RA Printing |
| Paper type | Tullis Russell 104gsm Red Phosphor/Blue PVA Stamp Paper & Domain S/A Securpost MC 90 P11P Non-Phos |
| Printing process | Offset lithography |

| Stamp size | 35mm x 35mm |
|-------------------|----------------------|
| Perforations | 14.28 x 14.28 |
| Sheet layout | Module of 50 |
| National postmark | Nelson Bay, NSW 2315 |



Christmas Island **Cultural Festivals**

Bringing the colours and stories from the Australian territory to life.

Christmas Island is home to about 2,000 people, whose origins lie in many parts of the world, including China, Malaysia, Australia, Indonesia and India. This rich heritage is reflected in cultural festivals held each year. The full moon at the top of each stamp symbolises the lunar calendars that determine the timing of many of the festivals. Against this is a map of the island itself.









Technical details

| Withdrawal dates | 1 October 2025 – FDC 16 April 2025 | |
|---------------------------|--|--|
| Denomination | 2 x \$1.50, 2 x \$3 | |
| Stamp & product design | ©Visua | |
| Printer | Southern Impact | |
| Paper type | Tullis Russell 104gsm Red Phosphor/Blue PVA Stamp Paper | |
| Printing process | Offset lithography | |
| Stamp size | 26mm x 37.5mm | |

| Minisheet size | 135mm x 80mm |
|-------------------|------------------------------|
| Perforations | 14.6 x 13.86 |
| Sheet layout | Module of 50 (2 x 25) |
| National postmark | Christmas Island, WA 6798 |



50 Years of Colour TV

Celebrating five decades since Australia made the switch from black-and-white.

At midnight on 1 March 1975 – C-Day, as it was called – television officially burst into colour across Australia. We were years behind the rest of the world in adopting colour broadcasting, but quickly made up for lost time – by 1978, more than 64 per cent of households in Melbourne and Sydney had purchased a new PAL standard colour television set.







Stamp Design 2285067 (76603286)







Technical details

Stamp size

Withdrawal dates 1 October 2025 – FDC 23 April 2025 Denomination 1 x \$3 International Stamp & product Lynda Warner design Printer Paper type Tullis Russell 104gsm Red Phosphor/Blue PVA Stamp Paper & Domain Securpost / Red Phosphor MC90 / C Print / P10P Printing process Offset lithography

26mm x 37.5mm

| Perforations | 13.86 x 14.6 |
|-------------------|-----------------------|
| Sheet layout | Module of 50 (2 x 25) |
| National postmark | Wollongong, NSW 2500 |



Released 8 April 2025

Raptors – Birds of Prey

A collection that explores the fascinating world of Australia's birds of prey.

Australia is home to some 36 species of raptors, including nocturnal raptors (which are active at night, such as owls) and diurnal raptors (which are active during the day, including hawks, harriers and falcons). This stamp series features three diurnal raptors: the Little Eagle, Grey Falcon and Black-breasted Buzzard. With keen eyesight, a broad wingspan and strong, sharp talons, diurnal raptors are skilled hunters, using various techniques to locate, pursue and seize their prey.

FIRST DAY OF ISSUE • 8 APRIL 2025



EAGLEHAWK

VICTORIA 3556





No. 394 / 2025







S/A Booklet of 10 x \$1.50 Little Eagle 2283250 (76603202)





Technical details

Withdrawal dates 1 November 2025 - FDC 7 May 2025

| Denomination | 3 x \$1.50 |
|---------------------------|---|
| Stamp & product design | Tim Hancock, Backpack |
| Printer | EGO |
| Paper type | Tullis Russell 104gsm Red Phosphor/Blue PVA Stamp Paper& Tullis Russell Red Phos PSA (P55) 100gsm Release S/A |
| Printing process | Offset lithography |
| Stamp size | 26mm x 37.5mm |

| Minisheet size | 170mm x 80mm |
|-------------------|-----------------------|
| Perforations | 13.86 x 14.6 |
| Sheet layout | Module of 50 (2 x 25) |
| National postmark | Eaglehawk, Vic 3556 |

A fun and unique way to celebrate a special day

Only 2,000 produced | Limit of 2 per household



Coins are legal Australian tender produced by The Perth Mint. ON SALE 4 FEBRUARY 2025, WHILE STOCKS LAST.



Postcards from the Front

This release complements the 2022 issue, Postcards to the Front.

During World War I, some 330,000 Australians served overseas, and the letters and postcards they wrote became treasured keepsakes for their families and friends. The war years of 1914-18 coincided with the "golden age" of the postcard, and saw the production of millions of embroidered silk postcards. France was the largest source, and hundreds of designs catered specifically to members of the Australian, New Zealand, British, French, Canadian or South African armed forces.







Stamp Design Set 2291067 (76603556)











Minisheet 2291142 (76603554)



Only 1,500 produced



Only 1,300 produced





\$14²⁵

S/A Sheetlet of 5 x \$2.85 2291252 (76603886)



Technical details

Withdrawal dates 1 November 2025 - FDC 14 May 2025

| withdrawat dates | 1100 ember 2020 1 Do 14 May 2020 |
|---------------------------|--|
| Denomination | 1 x \$1.50, 1 x \$2.85 |
| Stamp & product design | Jo Mure, Australia Post Design Studio |
| Printer | EGO & RA |
| Paper type | Tullis Russell 104gsm Red Phosphor/Blue PVA Stamp Paper & Printed CMYK + PMS 540 International Blue & Tullis Russell Red Phos PSA (P55) 100gsm Release S/A |
| Printing process | Offset lithography |
| Stamp size | 26mm x 37.5mm |

| Minisheet size | 135mm x 80mm |
|-------------------|-----------------------|
| Perforations | 13.86 x 14.6 |
| Sheet layout | Module of 50 (2 x 25) |
| National postmark | Canberra, ACT 2601 |



Released 22 April 2025

AAT Aurora Australis

A collection capturing the mesmerising beauty of this atmospheric phenomenon.

Aurora australis, also known as the southern lights, sees shimmering curtains of green, red and violet lights manifest in the night sky around the south magnetic pole. The awe-inspiring spectacle is best viewed in the Australian Antarctic Territory and Tasmania – the images on these stamps were taken from Casey Research Station, the closest permanent Antarctic station to Australia, by meteorologist Barend (Barry) Becker using time-lapse photography.





\$1.50

\$1.50





Technical details

Withdrawal dates 1 November 2025 – FDC 20 May 2025

| Denomination | 2 x \$1.50, 2 x \$3 |
|---------------------------|--|
| Stamp & product design | Jo Mure, Australia Post Design Studio |
| Printer | Southern Impact |
| Paper type | Tullis Russell 104gsm Red Phosphor/Blue PVA Stamp Paper |
| Printing process | Offset lithography |
| Stamp size | 26mm x 37.5mm |
| Minisheet size | 170mm x 80mm |

| | Perforations | 13.86 x 14.6 |
|--|-------------------|------------------------------------|
| | Sheet layout | Module of 50 (2 x 25 no design) |
| | National postmark | Kingston, Tas 7050 |





20-23 March 2025

Opening hours:

Thursday 10am to 6pm Friday 10am to 6pm Saturday 10am to 5pm Sunday 10am to 3pm

Wentworth Park Sporting Complex, 5 Wentworth Park Road, Glebe, NSW 2037 **Entry is free**

featuring coloured foiled postmarks. Only 150 produced.

One numbered, show-only minisheet available,

50 released Friday, Saturday and Sunday.

Sydney Stamp & Coin Expo-only collectables

Limited-edition show minisheets





Friday Expo Minisheet





Sunday Expo Minisheet



Sydney Stamp & Coin Expo Minisheet (Mint) 7164229 (76603880)





Australia Post will be attending the expo from Friday 21 March to Sunday 23 March 2025. Postmarking services will be available during this period.

No Sydney Stamp & Coin Expo postmark or postmarking service available on Thursday 20 March 2025.

Sydney Stamp & Coin Expo-only collectables Three numbered, show-only PNCs available, featuring coloured foiled postmarks. Limit of one per customer.

Limited-edition show PNCs. Only 120 of each produced. New designs released daily.





Lunar New Year 2025 **Dragon PNC** (Friday release)







Best Friends PNC (Saturday release)



NSW Road Trip PNC (Sunday release)



For more information visit auspost.com.au/2025sydneyshow





sheetlet of 5 stamps



2882

4-2-X-64

Seven Seas Stamps

| | Supplement | Optional |
|-------------------------------------|--------------------------------------|--|
| Living Seashells | Design Set (Gummed & S/A) | S/A Booklet of 10 x \$1.50 (3) |
| 50 Years of Colour TV | Design Set (Gummed & S/A) | S/S Sheetlet of 5 x \$3 |
| Raptors – Birds of Prey | Design Set (Gummed & S/A), Minisheet | S/A Booklet of 10 x \$1.50 (3) |
| Postcards from the Front | Design Set (Gummed & S/A), Minisheet | S/A Sheetlet of 5 x $2.85,$ S/A booklet of 10 x 1.50 |
| Christmas Island Cultural Festivals | Design Set (Gummed), Minisheet | |
| AAT Aurora Australis | Design Set (Gummed), Minisheet | |
| Mail order codes | | |
| 2286235 | Australian Supplement | \$159.45 |
| 2286236 | Australian Optional | \$134.25 |
| 2286238 | Christmas Island Supplement | \$18 |
| 2286239 | AAT Supplement | \$18 |
| 7164235 | Sydney Stamp Expo Supplement | \$ 5.30 |

New releases

Philatelic Mail Order Bureau Reply Paid 4000 FERNTREE GULLY VIC 3156

Reply Paid only applies to orders placed within Australia



auspost.com.au/stamps



Freecall 1800 331 794 +61 3 9887 0033 Also from participating Australian Post Offices

Further enquiries mailorder@auspost.com.au

OVERSEAS SUBSCRIBERS: Ordering process change. Starting from the January – February 2025 Stamp Bulletin (No. 393), overseas customers are required to place an order by email, phone or online.

For full background details to stamp issues and select products, along with local stamp club events and new pictorial postmarks previously announced, head to the Australia Post Collectables website. Stamp issue background information will be available on the date a new issue is released. **Please visit auspostcollectables.com.au**

Postal numismatic covers, medallion covers and stamp covers price update, effective January 2025

Due to an increase in cost to produce postal numismatic covers (PNCs), medallion covers and other stamp covers, an increase in RRP will be effective from January 2025. Pricing will vary across the range of PNCs, medallion covers and other stamp covers released from January 2025 onwards.

To the best of Australia Post's knowledge, all information contained in this *Stamp Bulletin* was correct at the time of printing. Australia Post will not accept any responsibility for errors, oversights or changes to information, which may occur after printing. The availability of products advertised in this *Stamp Bulletin* is subject to demand, availability of stock or as otherwise notified from time to time. Restrictions on the number of individual items sold to any individual will be enforced to provide fair opportunity across the collecting community. For availability of products, visit our website at: auspost.com.au/stamps. Where non-Australia Post products or businesses are advertised, Australia Post does not represent any association with the business advertised or the supply of goods or services by those businesses.





Royal Mint

Australian Available from 15 January 2025 at participating Post Offices while stocks last. See auspost.com.au/ausopen or ask in-store for details.



Celebrate Australia's first dual-sport Paralympic gold

A commemorative sheetlet of 10 stamps recognising Lauren Parker's incredible achievement at the 2024 Paralympic Games. where she topped the podium in both the Para-triathlon and Para-cycling events.

Order online at auspost.com.au/ laurenparker

Stamp O Australia Post Documentaria Post Bulletin

Order form

How to use this form

- 1. Select your products and enter the total on each selection.
- 2. Add all totals and enter the full amount (include postage and handling) of your order.
- 3. Enter your name and address details if not shown here.
- 4. Fill in your payment details.
- 5. Return completed order form (Reply Paid within Australia only).

Postage and handling

- A postage and handling charge of \$5 applies on all ad-hoc orders within Australia. (Overseas orders are A\$9.)
- For Australian standing orders delivered by issue, postage and handling is \$3. The postage and handling charge is waived for bimonthly dispatch of standing orders.
- Allow an estimated 28 business days for delivery. The delivery timeframe will be determined by the last release date of those items included in your order.

Coins, banknotes and licensed products are available for sale within Australia only. PNC and coin products available to order on or after the release date.

Return/exchange

Australia Post does not provide refunds for philatelic and/or numismatic products where you have simply changed your mind. For more information about Australia Post's Returns Policy visit: auspost.com.au/receiving/delayed-lost-or-damaged-items/ our-returns-policy.

Contact



Philatelic Mail Order Bureau Reply Paid 4000 FERNTREE GULLY VIC 3156

Please note reply paid only applies to orders placed within Australia



auspost.com.au/stamps



mailorder@auspost.com.au (Not available for credit card detail updates.)



Freecall 1800 331 794 +61 3 9887 0033

Office hours

8.30am to 5pm (AEDT) Mon-Fri

Abbreviations

| М | mint |
|----|-----------------|
| PM | postmarked |
| LE | limited edition |

For more information, visit **auspost.com.au**

New issues

| Mail order code | SAP | Product description | Price | Qty | Value |
|--------------------------------|--------------|---|----------|-----|-------|
| 11 March 2025 Living Seashells | | | | | |
| 2287067 | 76603530 | Stamps (3 x \$1.50) | \$4.50 | | |
| 2287250 | 76603524 | S/A Booklet of 10 x \$1.50 (Platypus) | \$15.00 | | |
| 2287251 | | Chequebook of 20 x 10 x \$1.50 (Platypus) | \$300.00 | | |
| 2287252 | 76603525 | S/A Booklet of 10 x \$1.50 (Tiger) | \$15.00 | | |
| 2287253 | | Chequebook of 20 x 10 x \$1.50 (Tiger) | \$300.00 | | |
| 2287254 | 76603526 | S/A Booklet of 10 x \$1.50 (Nebulous) | \$15.00 | | |
| 2287255 | | Chequebook of 20 x 10 x \$1.50 (Nebulous) | \$300.00 | | |
| 2287005 | 76603540 | Blank Cover | \$1.00 | | |
| 2287002 | 76603541 | First Day Cover (Gummed) | \$4.80 | | |
| 2287126 | 76603542 | Stamp Pack | \$4.95 | | |
| 2287220 | 76603543 | Maxicard (Set of 3) | \$6.75 | | |
| 2287241 | 76603533 | Gutter 10 x \$1.50 (Platypus) | \$15.00 | | |
| 2287242 | 76603536 | Gutter 10 x \$1.50 (Tiger) | \$15.00 | | |
| 2287243 | 76603539 | Gutter 10 x \$1.50 (Nebulous) | \$15.00 | | |
| 18 March 2 | 2025 Christr | nas Island Cultural Festivals | | | |
| 2293067 | 76603651 | Stamps (2 x \$1.50, 2 x \$3) | \$9.00 | | |
| 2293142 | 76603649 | Minisheet | \$9.00 | | |
| 2293005 | 76603664 | Blank Cover | \$1.00 | | |
| 2293002 | 76603665 | First Day Cover (Gummed) | \$9.30 | | |
| 2293013 | 76603666 | First Day Cover (Minisheet) | \$9.30 | | |
| 2293241 | 76603654 | Gutter 10 x \$1.50 (Ullambana) | \$15.00 | | |
| 2293242 | 76603663 | Gutter 10 x \$1.50 (Vesak) | \$15.00 | | |
| 2293243 | 76603657 | Gutter 10 x \$3.00 (Hari Raya Puasa) | \$30.00 | | |
| 2293244 | 76603660 | Gutter 10 x \$3.00 (Mooncake) | \$30.00 | | |
| 25 March | 2025 50 Yea | rs of Colour TV | | | |
| 2285067 | 76603286 | Stamp (1 x \$3) | \$3.00 | | |
| 2285005 | 76603293 | Blank Cover | \$1.00 | | |
| 2285002 | 76603294 | First Day Cover (Gummed) | \$3.30 | | |
| 2285126 | 76603295 | Stamp Pack (Gummed Stamp & S/A Sheetlet of 5 x \$3 | \$18.45 | | |
| 2285220 | 76603296 | Maxicard | \$3.75 | | |
| 2285301 | 76603839 | Medallion Cover | \$35.00 | | |
| 2285250 | 76603872 | S/A Sheetlet of 5 x \$3 | \$15.00 | | |

New issues cont.

| Mail order code | SAP | Product description | Price | Qty | Value |
|---|--------------|---|----------|-----|-------|
| 25 March 2025 50 Years of Colour TV cont. | | | | | |
| 2285251 | | Chequebook of 20 x 5 x \$3 | \$300.00 | | |
| 2285241 | 76603289 | Gutter 10 x \$3.00 | \$30.00 | | |
| 8 April 202 | 25 Raptors – | Birds of Prey | | | |
| 2283067 | 76603210 | Stamps (3 x \$1.50) | \$4.50 | | |
| 2283005 | 76603220 | Blank Cover | \$1.00 | | |
| 2283002 | 76603221 | First Day Cover (Gummed) | \$4.80 | | |
| 2283013 | 76603222 | First Day Cover (minisheet) | \$4.80 | | |
| 2283126 | 76603223 | Stamp Pack | \$9.45 | | |
| 2283220 | 76603224 | Maxicard (Set of 3) | \$6.75 | | |
| 2283301 | 76603826 | Medallion Cover Little Eagle | \$35.00 | | |
| 2283302 | 76603827 | Medallion Cover Grey Falcon | \$35.00 | | |
| 2283303 | 76603828 | Medallion Cover Black-breasted Buzzard | \$35.00 | | |
| 2283142 | 76603208 | Minisheet | \$4.50 | | |
| 2283250 | 76603202 | S/A Booklet of 10 x \$1.50 Little Eagle | \$15.00 | | |
| 2283251 | | Chequebook of 20 x 10 x \$1.50 Little Eagle | \$300.00 | | |
| 2283252 | 76603203 | S/A Booklet of 10 x \$1.50 Falcon | \$15.00 | | |
| 2283253 | | Chequebook of 20 x 10 x \$1.50 Falcon | \$300.00 | | |
| 2283254 | 76603204 | S/A Booklet of 10 x \$1.50 Buzzard | \$15.00 | | |
| 2283255 | | Chequebook of 20 x 10 x \$1.50 Buzzard | \$300.00 | | |
| 2283241 | 76603213 | Gutter 10 x \$1.50 Eagle | \$15.00 | | |
| 2283242 | 76603216 | Gutter 10 x \$1.50 Falcon | \$15.00 | | |
| 2283243 | 76603219 | Gutter 10 x \$1.50 Buzzard | \$15.00 | | |
| 5 April 20 | 25 Postcard | s from the Front | | | |
| 2291067 | 76603556 | Stamps (1 x \$1.50, 1 x \$2.85) | \$4.35 | | |
| 2291142 | 76603554 | Minisheet | \$4.35 | | |
| 2291005 | 76603563 | Blank Cover | \$1.00 | | |
| 2291002 | 76603564 | First Day Cover (Gummed) | \$4.65 | | |
| 2291013 | 76603565 | First Day Cover (Minisheet) | \$4.65 | | |
| 2291126 | 76603566 | Stamp Pack | \$9.15 | | |
| 2291220 | 76603567 | Maxicard (Set of 2) | \$5.85 | | |
| 2291401 | 76603840 | PNC (PM) | \$25.00 | | |
| 2291301 | 76603841 | Medallion Cover | \$35.00 | | |
| 2291250 | 76603552 | S/A Booklet of 10 x \$1.50 | \$15.00 | | |

New issues cont.

| 15 April 20 2291251 2291252 | 25 Postcard | Is from the Front cont. | | |
|--|-------------|--|----------|--|
| | | | | |
| 2201252 | | Chequebook of 20 x 10 x \$1.50 | \$300.00 | |
| 2291202 | 76603886 | S/A Sheetlet of 5 x \$2.85 | \$14.25 | |
| 2291253 | | Chequebook of 20 x 5 x \$2.85 | \$285.00 | |
| 2291241 | 76603559 | Gutter 10 x \$1.50 | \$15.00 | |
| 2291242 | 76603562 | Gutter 10 x \$2.85 | \$28.50 | |
| 2291501 | 76603922 | Pin Cover | \$22.00 | |
| 2291500 | 76603921 | Postcards from the Front Collection | \$35.00 | |
| 22 April 20 | 25 AAT Auro | ora Australis | | |
| 2286067 | 76603309 | Stamps (2 x \$1.50, 2 x \$3) | \$9.00 | |
| 2286142 | 76603307 | Minisheet | \$9.00 | |
| 2286005 | 76603322 | Blank Cover | \$1.00 | |
| 2286002 | 76603323 | First Day Cover (Gummed) | \$9.30 | |
| 2286013 | 76603324 | First Day Cover (Minisheet) | \$9.30 | |
| 2286126 | 76603325 | Stamp Pack | \$18.45 | |
| 2286220 | 76603326 | Maxicard (Set of 4) | \$12.00 | |
| 2286241 | 76603312 | Gutter 10 x \$1.50 (Watts Lake Hut) | \$15.00 | |
| 2286242 | 76603315 | Gutter 10 x 1.50 (28 March 2017) | \$15.00 | |
| 2286243 | 76603318 | Gutter 10 x \$3.00 (1 August 2017) | \$30.00 | |
| 2286244 | 76603321 | Gutter 10 x \$3.00 (Signpost in Moonlight) | \$30.00 | |

New issues total

Miscellaneous

| Mail order code | SAP | Product description | Price | Qty | Value |
|-----------------|----------|--|---------|-----|-------|
| 1515726 | 76603836 | Chinese New Year Hello Kitty and Friends Stamp Pack | \$17.00 | | |
| 7164229 | 76603880 | Sydney Stamp & Coin Expo Minisheet (Mint) | \$5.30 | | |
| 1515680 | 76601958 | Looney Tunes Easter Stamp Pack | \$21.00 | | |
| 1515728 | 76603917 | Mandalorian Stamp Pack | \$17.00 | | |
| 1515729 | 76603918 | Bambi Stamp Pack | \$24.00 | | |
| 7166401 | 76603132 | E.T. the Extra-Terrestrial PNC | \$35.00 | | |
| 7157430 | 76603861 | 2024 Paralympian of the Year – Lauren Parker | \$15.00 | | |
| 7165401 | 76603850 | Happy Birthday 2025 PNC | \$25.00 | | |
| 1515730 | 76603849 | Happy Birthday Stamp & Coin Card | \$25.00 | | |

Miscellaneous total

Seven Seas

| Mail order code | Product description | Price | Qty | Value |
|-----------------|------------------------------|------------|-------|-------|
| 2286235 | Australian Supplement | \$159.45 | | |
| 2286236 | Australian Optional | \$134.25 | | |
| 2286238 | Christmas Island Supplement | \$18.00 | | |
| 2286239 | AAT Supplement | \$18.00 | | |
| 7164235 | Sydney Stamp Show Supplement | \$5.30 | | |
| | | Seven Seas | total | |

HOW TO SET UP YOUR STANDING ORDER

There are many benefits of setting up a standing order, primarily to ensure you never miss out on adding new, and often rare, qualifying products' to your collection. You can decide exactly what you want to receive, with no minimum issue restrictions on your purchase. No queues, no fuss, just products delivered to your door as soon as they are available.

'For full terms and conditions visit: australiapostcollectables.com.au/articles/standing-order-offering

Purchasing blank first day covers and licensed products

Collectors are advised that blank covers associated with new stamp issues are not listed for sale online and are only available by mail order and in-store.

Licensed stamp packs and collectable products are only available for sale to local customers under the terms and conditions of the license to produce.

| Order total | Within Australia | | |
|--|---|---|--|
| New issues total | | Philatelic Mail Order Bureau Reply Paid 4000 FERNTREE GULLY VIC 3156 | |
| Miscellaneous total | cellaneous total Overseas Philatelic Mail Orde | | |
| Seven Seas total | | PO Box 4000 FERNTREE GULLY VIC 3156 AUSTRALIA | |
| Subtotal | | | |
| | | Important notice On occasion, currency has been sent | |
| Postage and handling Domestic \$5 International A\$9 | | to the Australian Philatelic Bureau in the mail to cover the cost of an order. While this practice is rare, we would like to remind all our customers that this method of payment cannot be accepted. | |
| | | Australia Post advises that this is in keeping with guidelines for mail | |
| Order total | | processing as set by the Australian Postal Corporation Act 1989. | |

Planned withdrawal dates may be changed without notice to meet emergent postal requirements. Advice of such changes will be published retrospectively in the first available Stamp Bulletin Australia. Contact the Australian Philatelic Bureau (FREECALL 1800 331 794 within Australia, +61 3 9887 0033 overseas) or visit auspost.com.au/stamps for the current price at the time you place your order. Hours of operation are 8.30am to 5pm AEDT. The price of stamps and related products, souvenir items and numismatics are correct at the time of printing but are subject to change. The price of numismatic products is subject to valuation changes. Contact the Australian Philatelic Bureau or your participating Post Office to check the current price at the time of placing your order.

Postal numismatic covers, medallion covers and stamp covers price update – effective January 2025

Due to an increase in cost to produce postal numismatic covers (PNCs), medallion covers and other stamp covers, an increase in RRP will be effective from 2025. Pricing will vary across the range of PNCs, medallion covers and other stamp covers released from January 2025 onwards.

| Method of payment | I wish to use my existing credit card |
|---------------------|---------------------------------------|
| Procinca of payment | I wish to use my existing creat card |

Money order within Australia (payable to Australian Philatelic Bureau). Do not send cash.

| Please tick | Visa | Money Order (within Australia) |
|---|--|--|
| | MasterCard | American Express |
| Please debit my credit car (minimum \$10 | | |
| Card number | | |
| Credit card expiry date | | be used if adding a new credit card updating an existing credit card |
| Name (as it appears on the card) | | |
| Cardholder's signature | | |
| Updating your credit card details Over the phone, freecall 1800 331 794 or +613 9887 0033 from overseas | your payments will reach us. • All payments must be in Australi | is is not secure and there is no guarantee an dollars – the conversion of foreign currency |

Change of address – New customer Y or N (please circle)

| Name | | Member no. | |
|---------|-------|------------|------|
| Address | | | |
| | | | |
| City | State | Post | code |
| Country | | | |
| Phone | Date | | |
| Email | | | |

Privacy notice (auspost.com.au/privacy)

We may collect your personal information to record and administer your subscription to Stamp Bulletin Australia, process your order for philatelic or numismatic products or update our records. Without your personal information we are unable to provide these services. Your personal information may be disclosed to our contracted service providers who assist us in providing these services, including call centre operators, mailing houses and financial institutions who process your payments. We may also use your personal information to tell you about our products, services or special offers that we think may be of interest to you. Please tick the box below if you do want to receive this information. Your personal information is handled in accordance with Australia Post Group Privacy Policy, which outlines how to access and/or correct your personal information or make a privacy-related complaint. You may contact the Privacy Contact Officer, Australia Post, GPO Box 1777, Melbourne, Vic, 3001 for privacy-related queries. For more information, please visit auspost.com.au/privacy. For other queries, or to place your order by telephone, please call the Philatelic Bureau on (freecall) 1800 331 794.

Yes, I want to receive special offers and other information from Australia Post.



POSTAGE PAID AUSTRALIA

Screen classics Looney Tunes Bambi, E.T., and more Capturing all the vivid colours **AAT Aurora** Australis Commemora<u>tive</u> Postcards from the Front issue Australia's raptors **Birds of Prey** Raptors take flight Five decades since 'C-Day' 50 Years of Colour TV **Cultural Festivals Christmas Island** Arich heritage comes to life A bright collection Living Seashells types of ovulids featuring three 2025

No. 394

HELLO KITTY